Algodat — Assignment 4 Laurenz Weixlbaumer (11804751)

Insertion
1. 751 > 579 (Compare to root node, continue to right side.)
2. 751 < 802 (Compare to right child of root, continue to left side.)
3. 751 > 680 (Compare to left child, continue to right side.)
4. 751 < 791 (Compare to right child, continue to left side.)
)

. No node found, thus we insert here.
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Removal Start with the node to remove (579), go right once (802) continue to the left until you
hit an empty node on the left (last node is 680). The last node on this path is the successor.

The right node of the parent of the successor is assigned to the previous right node of the
Successor.
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